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Week 2

1) Jessica and Arjun each improved their yards by planting grass sod and ivy. They bought their
supplies from the same store. Jessica spent $167 on 9 ft* of grass sod and 11 pots of ivy. Arjun
spent $76 on 2 fi? of grass sod and 8 pots of ivy. Find the cost of one ft* of grass sod and the cost

of one pot of ivy.
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2) The school that Shreya goes to is selling tickets to a fall musical. On the first day of ticket sales
the school sold 14 senior citizen tickets and 6 student tickets for a total of $246. The school took
in $192 on the second day by selling 10 senior citizen tickets and 7 student tickets. What is the
price each of one senior citizen ticket and one student ticket?

Divide.
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@ 3) (24n+9n* = 21n* - 52) = (3n = 7)
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5) (24x° —9—54x— 11x® - 21x* + 15x?) = (1 + 8x)

State the possible rational zeros for each function.
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6) f(x)=x>+5x*-30x+18
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Expand each logarithm.

8) log —

10) log, ab

12) log, Va-b-c
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= (o109 + o101 b)

4) (2n° - 5n® — 8n® +20n* + 1) + (2n - 5)
st pg D

7 f(x)=3x3+5x2+x—1

1) log, (') = 3 \ng u+H4 ’UQQV

J2(1g, 0 +10g; 0+ 10g ¢ )
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Condense each expression to a single logarithm.

13) 4log., u—20log., v logg x log, y
- \07 u‘” 14y gy 25—y
9—( zo> Mz
: 09 (2 R*y*)

15) 3log, a + 18log, b 16) 12log, a+6log, b

100, (a®0") 1044 (0" b°)

Use a calculator to approximate each to the nearest thousandth.

17) log 55 = \. 314 O 18) log, 53 =l%%§% =523

Solve each equation. . . | o

19) log, 6 +1log, 2)c2=log4 12 20) log, 10 +log, (x+7)=4

21) log, (x* - 9)~ log, 8=1 22) log 4x — log 6 =log 39

. m(12x2>=W\1 20. loga (10x+70)="

12X =YL 27~ loxr 1P
&=\ " b = 10x+10

= ~-"4 = 10X
| @ 5.4 =x

2\ g ( = )= zz.}@g(% '4&@ 39
X

l_ﬂ L\X

5 = =
3 L
5= ¥ Hx =234
40 =x?—“i | %= 58.9|
& =g
[ 27 =%




AAT week 2

|, (Wl = a8 L) 2 25+ 3B
(Tu= 23+ dL) 71 25 + DL =FU
29 =20
334 =\®d * 22L S =10
' —u&qb\s-m 6% [per vy
-390 = - 5ol 3 \0 per Sod
F = v

2. 03+ Lt =2yp)

(s e =192 )--u  0(8) +1B= 9%
150 + 7L =197%
%%5+Lﬁﬁ=\er RO
-L0S — A2L = - 1\9L L is

65 =900 819 [senior
8= 19 8 U studeny

5 T3} 4 -2t 0 M -52
* 7' 0 O 58U

I
g o O 24 H

—_—

L
gl 2 e & UOUY (.

R— o8O e W\ oL

W) Y ACR0NS : Y Oute
| msjg\(@\q N

Cﬁua\



|

ZY\H—%Y\1+X‘5)1
S |24 -21 -1 1B -BY -9
(= S R !

24 2% -3 b —-%Lv |2

al 2 o9 2 2
E\x 28X =3 X" +1u% — B x+\/5\




